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I . Read the following passage and answer the questions which follow.

(Adapted from: Class, Codes and Control (Volume I) by Basil Bernstein.
Granada Publishing Limited, 1973.)

QUESTIONS

Underlined 1: (A)

Underlined 2: verbal communication/words used

Underlined 8: EFEICL 2 2=/ —va VOFRFEEFE (J 3—r01)
BIa=s—varviDbEETHDILEVI T L,

Underlined 4: HORHZH 2. FFiEDO b DL LTIRAODNBZD TR B
WENTAHBEOF LRSI ESIT N0, MEOREFANE
BEZXDHETOHERERD,

Underlined 5: HEHZROFHZHITZ, FROLEESLHME BNEFFT 2ZVHR
ITEERZHIZOTT TV B, RERGIE, FHEZDIIERTE Y
BB HAIToTVWAEBREERZDOTHY, ELEKT
RDZ LRSI EREREE IR OB T DO EEHE
FEODOLK THAIZLEZHBL TV BENHLTH D,

Underlined 6: f2&13, OFHERDO T E b DOFERE, OFREEOTFE b
HLOFELESE, OFREE LWV OHSEED 3 OB RICES
T, TNEFNIZOWNWTAXDOREBICHR S TZHNBRLERLELD
HBNTWBZ ERMEITRD,



II. Read the following passage and answer the questions which follow.

(Adapted from: “Remembering Gandhi” by John Keay. In The Folio
Magazine, 2010-2011.)

QUESTIONS
Underlined 1: Because such colourful flowers are not likely in winter.
Underlined 2: The author.

Underlined 3: Because at the beginning she had been so shocked by his living
and eating habits.

Underlined 4: Animal products, such as meat, fish, eggs, and even dairy, were
most noticeably absent from his diet.

Underlined 5: soldiers

Underlined 6: pleased

Underlined 7: easily angry/quick tempered
Underlined 8: caused

Underlined 9: Nehru’s India (came first).

Underlined 10: his character and his accomplishments caused many people

to admire him—and so to leave flowers in his memory.
II. Read the following passage and answer the questions which follow.
(Adapted from: “It’s hard to learn French in middle age” by Pamela

Druckerman. In The New York 7Times International
Edition. Tuesday, April 30th, 2019.)



QUESTIONS

According to the content of the passage, write T for True, F for False or N
for Not mentioned in the text for each statement. Answer a question with “N”
only if the statement is either not present in the text or cannot be inferred
from the information in the text.
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IV. Read the following and write an essay in English in about 200 words.

HEOEKN : RRAPHENFZELSEHFE L LT, BUIREFRRALZHN
TR - GERICH b D& X ZHIRFROFKMHANTREATE S
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